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squares - each reflecting a sequential growth in 1 STEP= 240=16-15= Xy. |55
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g Every MPS will have its Perfect Number (PN= 3 9. 31, Rse 255/%64%4025 160
B%  running along a perpendicular Diagonal x/4 STEPS Ee ST, ¢y e o o ¢ ettt ot ey ) —63
BF  from the PRIME DIAGONAL (PD). The Multiples of e RO 1. 270 (057 === o == 36
B8 the PN will follow the Diagonal until it reaches the g SC A ISRCRRr SRS ~eaar .. 1= 2aaea 31 1106=46:961="36: 31/2=279: 1 24=_186"\2= 34596
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8| Here is for the p=2,3,5 MPS with a partial p=7
B8 p=2 z=3  MPS =2*2=9 in BLUE-GREEN
B5 D=3 z=7  MPS =2z"2= 49 in YELLOW
= z=31 MPS = z*2= 961 in PURPLE
= z=127 MPS = z°2= 16129 in RED
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